¥ Mapka kadens u cedenue | HayabHas moyka KoxeyHasa moyka
n/n | Nkadens Anuwa, M llpumeyarue
xun NogK M YeHus NOGK/MOYeHUS
7 K1 [1BC3-He 2x1.0 A1 TE7 *
2 K2 [1BC3-Hz 2x10 A1 TE2 *
7 K3 [1B(3-Hz 2x10 A1 TE3 *
4 Ké [1B(3-He 2x1.0 A1 A *
5 K5 [1B(3-He 2x1.0 A1 MET *
6 Ké [1B(3-He 2x1.0 A1 PDS1 *
7 K7 [1B(3-He 2x1.0 A1 PDS7 *
8 K8 [1BC3-Hz 2x10 A1 1S1 *
9 K9 [1BC3-Hz 2x10 A1 157 *
10 K10 [1B(3-He 2x1.0 A1 PDS3 *
1 K1 KBBIHe-LS 3x15 A1 ET1 *
17 K12 KBBI Fne-LS 4x0 75 A1 ET1 *
17 K13 KBBIHe-LS 3x15 A1 ET2 *
14 K14 KBBI Fne-LS 4x0, 75 A1 ET7 *
5] K15 KBBIHe-LS 2x15 A1 NST *
16 K16 KBBIHe-LS 2x15 A1 NS2 *
17 K17 KBBIHe-LS 2x15 A1 NS3 *
18 K18 KBBIHe-LS 2x15 A1 NS4 *
19 K19 KBBIHe-LS 2x15 A1 NS5 *
20 K20 KBBIHe-LS 2x15 A1 NS6 *
§ 21 K21 KBBIHe-LS 2x15 A1 NS7 *
S
; 27 K2? KBBMHe-LS 2x15 A1 NS8 *
S
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